
READ THIS MANUAL
Do not use this product until you read and understand 
the instructions in this manual.  
KEEP THIS MANUAL FOR FUTURE REFERENCE. 

1 YEAR WARRANTY
Need to register your waranty?

Want the assembly video?

Missing parts?

Other issues?

(Send us your order number and 
issue via email, and we'll get back 
to you within one business day)



STOP
CALL US FIRST！！！

DO NOT RETURN TO STORE 

For immediate help with assembly or product information，

please call us for assistance.

◆ Please check all parts and accessories. If there are any problems 
such as defects or missing parts，please E-mail us  for assistance. We 
will strive to resolve your problem within 24 hours on business days.



1

SAFETY INFORMATION

CAUTION Read all instructions and using this desk.
- Save these instructions

1. Close supervision is necessary when this furnishing is used by, or near children, invalids,

or disabled persons.

2. Use this furnishing only for its intended use as described in these instructions. Do not use

attachments not recommended by the manufacturer.

3. Installation and assembly must be performed by an adult.

4. Ensure that the floor is able to with stand the weight of the console when fully loaded.

5. To reduce risk of personal injury and product damage, always ensure a sufficient amount

of personnel are present when unpacking, moving and assembling the desk system.

6. Do not leave children alone to climb or play in or around this product all the time.

7. Use this product for its intended purpose only. Do not use side boards as step ladder.

8. To avoid damage, assemble the product on a sturdy, level and protective surface.

9. Two or more persons work together to install this product if needed.

10. Make sure all screws are tightly fastened before the product is used.

11. Check screws periodically and tighten them if necessary.

Failure to adhere to these warnings may result in serious injury or property damage.

To ensure your and others' safety, please read and follow the instructions 

in this user manual carefully and thoroughly before and during use.



2

DO NOT use any electric drill to 
avoid damaging the desktop.

The installation position of the main accessories

Attention

➊

➋

➌

➍

➌

➍

➎

➏

21
22

23
➐

➑

➓

➒

�

�

�

�
�

�
�

�

�

�
�

�

�

�

�

�

�

�

�

�

�

�

L
R



➊x1 ➌x2➋x1

➍x2 ➏x1➎x1

➐x1 ➒x1➑x1

ASSEMBLY INSTRUCTIONS

CAUTION: At least two adults are required to safely assemble this item. Other lifting attempts 
may risk back safety due to large and heavy part(s). 

Desk Board Desk Board Shelf board

Shelf board

Shelf bracket (big) Shelf bracket (big) Shelf bracket (small)

➓x1 �x2�x2
Shelf bracket (small) Connecting RodConnecting Rod

3

Side board Top board



4

Stabilizing Rod Folding DrawerConnector

PadCable Grommet

Hook

� x1� x3 � x2

� x2 � x2 � x1

Drawer PullDrawer Bottom Panel

� x8

21 x1 22 x2 23 x2

RL

Drawer Side Panel 
(outer side)

Drawer Side Panel 
(outer side)

Wood Pin

Wrench

M6x50 Screw

M6x20 Screw

M6x30 Screw

M6x12 Screw

M4x10 Screw

Screwdriver

Name QTY
Other 
Parts

🅐 20pcs

21pcs

5pcs

4pcs

2pcs

3pcs

1pc

1pc

🅑

🅓

🅒

🅘

🅕

🅗

🅖

Wood Pin

M6x50 Screw

M6x20 Screw

M6x30 Screw

M6x12 Screw

M4x10 Screw

Name QTY

🅐 1pc

1pc

1pc

1pc

2pcs

1pc

🅑

🅓

🅒

🅕

🅖

Spare 
Parts



🅕

5

0101

0202

ASSEMBLY INSTRUCTIONS

CAUTION: At least two adults are required to safely assemble this item. Other lifting attempts 
may risk back safety due to large and heavy part(s). 

➊

➋

�

�

� �

➐

� x6

➑
➒

➓

🅕 🅕 x2

➊

➋
Place the two desk boards 
with the screw holes facing 
upward for installation.



6

Please make sure the two 
desk boards stay tightly 
aligned during this step.

Pay attention to the 
direction of the shelf 
bracket ➑ (as shown 
in the diagram).

🅑 x4

0303

➋

➊

�

➑

0404

🅑 x2

🅑
outer side

🅑

➋

➊

�

DO NOT use any electric drill to 
avoid damaging the desktop.

Attention

70%

oute
r

sid
e

inn
er

sid
e



7

🅑

�
�

➋

➊

➐

🅑

🅑 x2

🅑 x2

0505

0606

70%

70%

inner sideouter

sid
e

inner

sid
e

Pay attention to the direction of 
the shelf bracket ➐ (as shown 
in the diagram).



8

🅑🅑

🅑 x4

�

0707

0808

🅐

🅐

➎

➑

➐

🅐 x4



9

🅐

🅐

🅐

🅐

0909
🅐 x8

🅐 x4

Note: Depending on your preference, you can attach one shelf 
board ➌ at height (i), (ii), or (iii).

➌

➌

➍

➍

➒

➓

➌

➌

�
�

�

🅐

🅐

🅐

🅐

🅐

🅐

Note: Parts ➒ and ➓ are different. Please ensure the faces 
with the same screw holes are oriented in the same direction.
Note: Parts ➒ and ➓ are different. Please ensure the faces 
with the same screw holes are oriented in the same direction.



10

➑

🅑 x4

1010
*Ensure the holes align
with the diagram for
correct installation.

➓

➓

➒

➒

➌

➍

➌

🅑

🅑

70%



11

➑

🅒

🅒

🅒

🅒

➓

➒

1111

🅐

🅐

🅐

🅐

➓

�

➒

🅐 x4

1212
🅒 x4

* Tighten all the
screws to 100%.



12

🅑 🅑

🅑 x3

1313

�

�

➏

➏

Attach the cylinder vertically to 
prevent tilting.

🅖 x3

🅖

* Note: You have the option to
leave the top board unsecured
for easier maneuverability.
Avoid overtightening the screws. 



13

1414

Front

Back

L R

Back Front

When installing, please pay attention to the 
front and back positions. There is no stopper 
on the front side, but there is a stopper on 
the back side, which prevents the drawer 
from being pulled out too far.

Drawer Side Panel Installation Tips (Please Read Carefully)

Assembly Skills
For assembly instructions, 
please watch the assembly 
video.

Back: With stopper

Front: No stopper

Back of the desk

Front of the desk

Pay special attention to not make a mistake 
in this step for the sake of Step ⑮.

22

23

Align Insert upper selection Attach lower selection



1515

�

�

🅓 x4

🅓

�

�

�

�

1. Unfold the folding drawer. 2. Insert the drawer bottom panel.

3.Align the drawer handle. 4.Secure the handle with 🅓.

14

Attention
1. The drawer features a fully separate

design for easier cleaning.
2. Do not pull out the drawer excessively

to avoid the risk of it falling.



🅒 x1 🅔 x2

1616

🅒

�

※ Attach the hook.

※ Install the wiring grommets.

21

15

1717 Complete.



16

Carbon Style

Laptop, etc. 
(Optional)

Hook

Drawer

Wiring Grommet

PC Case

Items such as 
basketballs

The bottom shelf is not frequently used, so we 
designed it as an open-style without space limitations.

Fall Prevention Plate

Fall Prevention Plate

Items such as books

�. L-shaped desk view

�. Multi-functional design




